

## **PROPERTY DETAILS REPORT**

St. Louis County, Minnesota



Date of Report: 5/8/2025 7:06:48 AM

			General De	etails				
Parcel ID:	141-0010-06	210						
Document:	Abstract - 01	Abstract - 01335012						
Document Date: 07/06/2017								
		Le	gal Descripti	on Details				
Plat Name:	HIBBING							
Sec	ction 1	ownship	I	Range	Lo	ot	Block	
36 56				20	-		-	
Description:	NE 1/4 OF 1	NW 1/4						
			Taxpayer D	etails				
Faxpayer Name								
and Address:	10826 ZIM F							
	HIBBING M	N 55746						
			Owner De	tails				
Owner Name	MAKI MARY	Ĺ						
		Pay	able 2025 Ta	x Summary				
	2025 - N	let Tax	\$3,356.00					
	2025 - S	pecial Assessme						
		-						
2025 - Total Tax & Special Assessments \$3,356.00								
		Curre	nt Tax Due (a	s of 5/7/2025	5)			
	Due May 15		Due Nover	nber 15		Total Due		
2025 - 1st Ha	alf Tax \$1,678.0	2025 - 2	2025 - 2nd Half Tax \$1.678.00			2025 - 1st Half Tax Due \$1,678.00		
	÷ ,							
2025 - 1st Ha	alf Tax Paid \$0.0	2025 - 2	nd Half Tax Paid		\$0.00 2025 -	2nd Half Tax Due	\$1,678.00	
2025 - 1st Ha	alf Due \$1,678.0	2025 - 2	2025 - 2nd Half Due \$1,678.00			2025 - Total Due \$		
			Parcel De	tails				
Property Addre	ess: 10826 7IM F	D, HIBBING MN		tano				
School District								
Tax Increment	District: -							
Property/Home	esteader: MAKI, MAR	/L						
		Assessme	ent Details (20	)25 Payable 2	2026)			
Class Code	Homestead	Land	Bldg	Total	Def Land	Def Bldg	Net Tax	
(Legend) 101	Status	<b>EMV</b> \$45,000	<b>EMV</b>	<b>EMV</b>	<b>EMV</b> \$0	<b>EMV</b> \$0	Capacity	
101	(100.00% total)	φ40,000	\$234,200	\$279,200	φυ	φυ	-	
121	1 - Owner Homestead (100.00% total)	\$6,400	\$0	\$6,400	\$0	\$0	-	
	0 - Non Homestead	\$3,400	\$700	\$4,100	\$0	\$0	-	
151		\$54,800	\$234,900	\$289,700	\$0	\$0	2298	



## PROPERTY DETAILS REPORT

St. Louis County, Minnesota



				Land De	etails			
Deed	led Acres:	40.00						
Waterfront:								
Wate	er Front Feet:	0.00						
Wate	er Code & Desc:	W - DRILLED WEL	L					
Gas	Code & Desc:	-						
Sewe	er Code & Desc:	S - ON-SITE SANI	TARY SYSTI	EM				
Lot V	Width:	0.00						
Lot [	Depth:	0.00						
The o	dimensions shown are no	ot guaranteed to be sur gov/webPlatslframe/frm	vey quality. A	Additional lot Up.aspx. If th	information can be ere are any quest	e found at ions, please email PropertyT	ax@stlouiscountymn.gov.	
			Improve	ment 1 De	etails (HOUSE	E)		
li	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
	HOUSE	1976	88	1	881	AVG Quality / 216 Ft <sup>2</sup>	SE - SPLT ENTRY	
ſ	Segment	Story	Width	Length	Area	Foundat	ion	
	BAS	1	1	17	17	CANTILE	VER	
	BAS	1	24	36	864	BASEME	NT	
	CW	1	14	18	252	FLOATING	SLAB	
	DK	1			POST ON GF	POST ON GROUND		
L	Bath Count	Bedroom Cour			ount	Fireplace Count	HVAC	
	1.75 BATHS	2 BEDROOMS		5 ROOM		•	AIR_COND, PROPANE	
					-			
	mprovement Type	II Year Built	Main Flo		ils (WHITE 3S Gross Area Ft ²	Basement Finish	Style Code & Desc.	
						basement rinish		
Г	GARAGE 1977		576 576		Foundation			
	Segment	Story	Width	Length	Area		-	
	BAS	1	24	24	576	FLOATING	-	
l	LT	1	24	10	240	FLOATING	SLAB	
		Im	proveme	nt 3 Detail	s (SHOP-BRC	OWN)		
h	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
GARAGE		1977	72	0	720	-	DETACHED	
	Segment S		Width	Length	Area	Foundat	ion	
	BAS	1	24	30	720	-		
		l	mprovem	ent 4 Deta	ils (RED/WHI	TE)		
			-			-		
lı	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
	mprovement Type POLE BUILDING		Main Flo 1,08		Gross Area Ft <sup>2</sup> 1,080	Basement Finish -	Style Code & Desc.	
		Year Built				Basement Finish - Foundat	- -	
	POLE BUILDING	Year Built 1980	1,08	30	1,080	-	ion	
	POLE BUILDING Segment	Year Built 1980 Story	1,08 Width	30 Length	1,080 <b>Area</b>	- Foundati PIERS AND FC	ion DOTINGS	
	POLE BUILDING Segment BAS LT	Year Built 1980 Story 1	1,08 Width 30	30 Length 36	1,080 <b>Area</b> 1,080	- Foundat PIERS AND FC POST ON GF	ion DOTINGS ROUND	
	POLE BUILDING Segment BAS	Year Built 1980 Story 1 1 1 1	1,08 Width 30 10 10	30 Length 36 12 18	1,080 <b>Area</b> 1,080 120 180	- Foundat PIERS AND FC POST ON GF POST ON GF	ion DOTINGS ROUND	
	POLE BUILDING Segment BAS LT LT	Year Built 1980 Story 1 1 1	1,08 Width 30 10 10	30 Length 36 12 18 nent 5 Det	1,080 Area 1,080 120 180 ails (SML SHE	- Foundat PIERS AND FO POST ON GF POST ON GF	ion DOTINGS ROUND ROUND	
	POLE BUILDING Segment BAS LT LT	Year Built 1980 Story 1 1 1 1 Year Built	1,08 Width 30 10 10 Improvem Main Flo	30 Length 36 12 18 Nent 5 Det por Ft <sup>2</sup>	1,080 Area 1,080 120 180 ails (SML SHE Gross Area Ft <sup>2</sup>	- Foundat PIERS AND FC POST ON GF POST ON GF	ion DOTINGS ROUND	
	POLE BUILDING Segment BAS LT LT T mprovement Type TORAGE BUILDING	Year Built           1980           Story           1           1           1           Year Built           1980	1,08 Width 30 10 10 Main Flo 12	30 Length 36 12 18 Nent 5 Det 50 Ft <sup>2</sup> 8	1,080 Area 1,080 120 180 ails (SML SHE Gross Area Ft <sup>2</sup> 128	- Foundat PIERS AND FC POST ON GF POST ON GF ED) Basement Finish -	ion DOTINGS ROUND ROUND Style Code & Desc.	
	POLE BUILDING Segment BAS LT LT	Year Built 1980 Story 1 1 1 1 Year Built	1,08 Width 30 10 10 Improvem Main Flo	30 Length 36 12 18 Nent 5 Det por Ft <sup>2</sup>	1,080 Area 1,080 120 180 ails (SML SHE Gross Area Ft <sup>2</sup>	- Foundat PIERS AND FO POST ON GF POST ON GF	ion DOTINGS ROUND ROUND Style Code & Desc.	



## **PROPERTY DETAILS REPORT**





Date of Report: 5/8/2025 7:06:48 AM

		Improvem	ent 6 Deta	ails (PLY HSE	NV)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	0	36 36		-	-		
Segment	Story	Width Lengtl		Area	Foundat	ion	
BAS	1	6 6		36	POST ON GF	ROUND	
		Improvem	nent 7 Det	tails (8X12 SH	ED)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	1986	96	6	96	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	8 12 96		POST ON GF	POST ON GROUND		
		Improvem	ent 8 Deta	ails (EQUP BL	DG)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
POLE BUILDING	1985	1,82	20	1,820	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	24	26	624	PIERS AND FO	OTINGS	
BAS	1	26	46	1,196	PIERS AND FO	OTINGS	
		Improvem	ent 9 Det	ails (14X16SH	ED)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	1978	22	4	224	-	-	
Segment	Segment Story		Width Length Area		Foundat	ion	
BAS	1	14 16 224		POST ON GF	ROUND		
LT	1	12	14	168	POST ON GF	ROUND	
		mproveme	ent 10 Det	ails (10X16 BA	ACK)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	1974	16	0	160	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	10	16	160	POST ON GF	ROUND	
	l	mprovemei	nt 11 Deta	ails (HUNT SH	ACK)		
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
MANUFACTURED HOME	1950	92	4	924	-	SGL - SGL WIDE	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	0	14	66	924	POST ON GF	ROUND	
Bath Count	Bath Count Bedroom Count Room		Room (	Count	Fireplace Count	HVAC	
0 BATH	<u>-</u>		-		-	, PROPANE	
	Sale	s Reported	to the St	. Louis County	y Auditor		
Sale Date			Purchase	e Price	CRV	Number	
01/1976			\$0	)	8	8726	



St. Louis County, Minnesota



Date of Report: 5/8/2025 7:06:48 AM

		A	ssessment Histo	ory			
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	- Total EMV	Land B	Def Idg Net Tax MV Capacity	
	101	\$48,500	\$248,400	\$296,900	\$0	\$0 -	
	121	\$7,100	\$0	\$7,100	\$0	\$0 -	
2024 Payable 2025	151	\$3,800	\$7,200	\$11,000	\$0	\$0 -	
	Total	\$59,400	\$255,600	\$315,000	\$0	\$0 2,511.00	
	101	\$51,100	\$230,300	\$281,400	\$0	\$0 -	
	121	\$7,600	\$0	\$7,600	\$0 :	\$0 -	
2023 Payable 2024	151	\$4,100	\$6,600	\$10,700	\$0	\$0 -	
	Total	\$62,800	\$236,900	\$299,700	\$0 :	\$0 2,436.00	
	101	\$42,200	\$164,000	\$206,200	\$0	\$0 -	
	121	\$5,800	\$0	\$5,800	\$0 :	\$0 -	
2022 Payable 2023	151	\$3,100	\$4,700	\$7,800	\$0	\$0 -	
	Total	\$51,100	\$168,700	\$219,800	\$0	\$0 1,684.00	
	101	\$38,400	\$139,100	\$177,500	\$0	\$0 -	
	121	\$5,100	\$0	\$5,100	\$0	\$0 -	
2021 Payable 2022	151	\$2,700	\$4,000	\$6,700	\$0	\$0 -	
	Total	\$46,200	\$143,100	\$189,300	\$0	\$0 1,399.00	
·		-	Tax Detail Histor	У			
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable M\	
2024	\$3,192.00	\$0.00	\$3,192.00	\$61,348	\$220,273	\$281,621	
2023	\$2,526.00	\$0.00	\$2,526.00	\$48,696	\$147,868	\$196,564	
2022	\$2,134.00	\$0.00	\$2,134.00	\$43,250	\$120,870	\$164,120	

**Disclaimer:** St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.